Rev: Date By [ Chk Description
Sheet 1 of 2 A1]6/14/11] PUE | TCB Updated title block. Added metric part options.
9.61
[244.0]
[~——2.48 [63.1] 3/8"-18 NPT
45.0° (2x)

1.250 [31.75]— - 0.830 [21.08]  LRe3/8'-19 Eé?gg ﬂ
0.750 [19.05]— (typ.) .
: } ’« $3.437+.001 2(55

. % a [087.30+.025] 7\

|
|
T
||
|
i
|
|
|
|
|
i
|
[
|
|
|
T
|
|
[
|
|
|
T
|
|
|
|
|
|
|
=
}r‘\
|
===

— - 3 4—{|— -5 -6 7 8 —|
N N N sy A A A o |
0.730
[918.54]
b.c.
py J
| #4—40 UNC .38 dp. $3.000
[M3x0.5 10 dp.] [676.20]
A (3%) b.c.
ball bearings
1/4"—20 UNC .50 dp.
[M6x1.0 12 dp.]
(4%)
Notes:
45.0° (2) 1. Union will be static air tested.
59 5 1 /4720 UNC .50 d 2. Media must be filtered, clean and free of
— . p. . . . .
PE— (2x) [M6x1.0 12 dp.] abrasive content or reduced union life wil
[#87.30+.025] 7\ /-\ (4x) result.
A 46.38 [69.5] to desth 5. Alternate metric units and threads apply
% \\§\\\\ . [#9.5] to depth, . .
53000 7 @\x\\ olug below flush (8x) to the LTM configurations. See page 2
: %7 N .
[76.20] /{/é?// \\f:@\\ for details.
mm! Tﬂ iy mﬂ
im MW /a\ﬂi I i i I
I St Wi
Hmlflflflf'ﬂ—%v N u 1111“1111'}'1' Drawn | PJE | 1/28/09 TOLERANCE
EXCEPT AS NOTED cr’
Checked | RAW | 2/11/09 x + 1o §3
. . _
Checked | JSM | 2/16/09 XXX~ +.015 J' '
CUSTOMER APPROVAL, DATE: Sk T2 | DYNAMIC SEALING TECHNOLOGIES, INC
13829 JAY ST NW ~ ANDOVER, MN 55304
SHAFT MTL/PLTING: 866-700-DSTI (3784)
6061 ALUM CUSTOMER:
E—NICKEL STOCK

THIRD ANGLE PROJECTION: | (typ.)

THIS DOCUMENT CONTAINS INFORMATION WHICH IS PROPRIETARY TO  [HOUSING MTL/PLTING: v
DYNAMIC SEALING TECHNOLOGIES, INC. (DSTI) NO REPRODUCTION OR P/N: REV:
PUBLICATION OF THIS DOCUMENT OR IT'S CONTENTS, IN WHOLE OR 6061 ALUM LT(M)—2381 Al

PART, SHALL BE MADE WITHOUT THE WRITTEN CONSENT FROM DSTI. BLUE ANNODIZE




Sheet 2 of 2

optional slip ring cap optional slip ring,

! ) to 56 circuits, )
I (=F1 required for mounting) chntact DSTI sales for detals 450 (29
o~ optional o—ring face connection ~ (p/n -C2) (p/n —ESxx) .
% o : e [0 s
#.34 [#8.7] to intersect, . [90.5]
¢ 0.438 [¢11.13] ID x 8.594 [15.09] OD shaft fd‘i‘dp&rg N \ , ‘ $4.000 54,437
i\ gland .0500 [1.270] dp. (8x) piuag Xﬁ r % %@ [#101.60] 11— [8112.70]
“L fl\r S R b.c. %'jL“\/L ~
T B0 | = = . N
=\ e N
R N H { ] r ¥ ! of 4 ¥ // N
- [ N\
T i cap| - ‘#P ************* -
i |
o B ]g
=== :‘"‘ 77777777777777
§*J
]
/ il
s !
2-013 o-ring & @m
‘ :
[10.82 ID x 1.78 c(é/i% I 1/4"20 UNC 50 dp.
. [M6x1.0 12 dp.]
standard plastic (4%)
cord grip
[ slip ring leads
“\36” [914] to 48" [1218]
both ends
45.0° (2 4500 (2
225 225
\ | (2><)\/ j —0.41 [10.3] 0.41 [10.3]— ‘« \ =G \/
.265 [96.60] $4.437+.001 N [—-0.800 [12.70] 0.500 112701 - 9.268 [96.50] $4.000
thru (4x) /= [8112.70£.025] thru (40 [6101.60]
#4.000 ®4.437+.001 be.
[2101.60] [#112.70%.025]
b.c.
2-015 o-ring ?&?3183]
[14.00 ID x 1.78 c(és% thru
* f
#1.100
[027.94]
$2.375
2-013 o-ring [#60.33]
[10.82 ID x 1.78 C/S] b.c.
(8x) $1.374
[¢34.90]
& b.c.
X 8.34 [#8.7] to intersect, optional shaft mounting flange ) . ) #10-24 UNC thru
(yp)— 9.438 [¢11.13] ID x ¢.594 [15.09] OD con be used with stondord or optional housing mounting/ [M5x0.8 thru]
gland .0500 [1.27] dp. (8x) —OF connection options slip ring mounting flange (3x)
optional o—ring face connection (p/n —F2) (p/n =F1)
(p/n —OF)
~| (25.40] 1/47-20 UNC 50 dp. Notes: . . . . . . — .
: r [M6x1.0 12 dp.] 1. Metric connections and threads available by using LTM in place of LT in the series designation prefix.
$3.000
N [676.20]
e Drawn | PJE | 1/26/09 TOLERANCE
H EXCEPT AS NOTED
(p/n —EScxA) Checked | RAW | 2/11/09 c ' ’_ 1
optional slip ring cap X.X +.125  ——— ] ]3
L (p/n —c1) Checked | JSM | 2/16/09 XXX £.015 = §F F- A
. X XXX £.005
CUSTOMER APPROVAL/DATE: ANGLES + 0.5 DYNAMIC SEALING TECHNOLOGIES, INC
13829 JAY ST NW ~ ANDOVER, MN 55304
FLANGES MTL/PLTING: 866-700-DST! (3784)
03.437 ;
[oa7.30] BLUL ANNODIZE FHETONER
optional pin connector STOCK
—PM
(o/n W) THIS DOCUMENT CONTAINS INFORMATION WHICH IS PROPRIETARY TO CAPS MTL/PLTING: -
optional pin connector DYNAMIC SEALING TECHNOLOGIES, INC. (DSTI) NO REPRODUCTION OR P/N: REV:
(p/n —PxE) PUBLICATION OF THIS DOCUMENT OR IT'S CONTENTS, IN WHOLE OR 6061 ALUM LT(M)*QBSW —SEE NOTES A
PART, SHALL BE MADE WITHOUT THE WRITTEN CONSENT FROM DSTI. BLUE ANNODIZE




	LT-2381 Model (1).pdf
	LT-2381 Model (2)

